DESIGN
"ASHLEY"

REPLACEMENT PART DESCRIPTION FORM

MODEL #: P020-716

FACTORY USE ONLY!!
PART# DESCRIPTION USED ON: | MRP# MATERIAL QTY.
PACK| P/M
1 Board #1(w/Screws)(368x60x15mm)| P020-716 |R71711 Poly 2 K P
2  |Board #2(w/Screws)(466x60x15mm)[ P020-716 [R71712 Poly 2 K P
3 Board #3(w/Screws)(530x60x15mm)| P020-716 |R71713 Poly 2 K P
4 Board #4(w/Screws)(564x60x15mm)| P020-716 |R71714 Poly 2 K P
5 Board #5(w/Screws)(560x60x15mm)| P020-716 |R71715 Poly 1 K P
6 Top Frame #1(572x572x25mm)| P020-716 |R71716 Metal 1 C M
7 Leg #1(405x65x16mm) P020-716 |R71717 Metal 3 C M
8 Base #1(566x481x20mm)| P020-716 |R71718 Metal 1 C M
9 Board #6 (w/Screws)(375x60x15mm)| P020-716 |R71719 Poly 2 K P
10 |Board #7 (w/Screws)(352x60x15mm)| P020-716 |R71720 Poly 2 K P
11 [Board #8 (w/Screws)(245x60x15mm)| P020-716 |R71721 Poly 2 K P
12 |Top Frame #2(383x383x25mm)| P020-716 |R71722 Metal 1 C M
13 Leg #2(355x65x16mm) P020-716 |R71723 Metal 3 C M
14 ([Base #2(377x355x20mm)| P020-716 |R71724 Metal 1 C M
15 [Adjustable Leveler(1/4inx20mm) | P020-716 |R71725 Metal 8 C M
1/4inx40mm Allen Bolt (6)
1/4inx15mm Allen Bolt (12)
16 |Hardware Pack P020-716 |R71726 1/4in Flat Washer (18) 1 G P
1/4in Lock Washer (18)
M4 Allen Key (1)
24 34 44’5
Ry oy
. s £V S
SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. January 2022 Page 1 Of 1




